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WAKAYAMA R =HF B LRI
(N DER) i J— R : 301010
BB 1iL 21 31 4] B{il 61 T 8111
S ES S |3568| 100n S8 Fh) WIT.08 (12.2) | FH  H=(1) w1184 (2.2 BE @A (1) wis.06 (+2.2)] 3 SRSN(T) W18.08 (12| O A (1) wis23 (22|l s (1) 1852 (H.2)[ B fake () W19.16 (12.2) | lBD =m(1) 19.24 (+1.2)
NRWELEDIST FCDEAC FCDEAC FISFT &F BHJAC NRWELEDIST NRWELEDIST BEINFR
NoEs 3 sm6a| 100m sEB —8(0©) wie.61 (13.4)|FE B3 (2) w22 (13.4) |22 hE(2) 17.36 (+1.9)|TTI8 (B (2) w139 (13.0) ([P =|EE(2)  wita1 (13.4)|Fia FEF(2) 17.44 ($1.9)|ChIB  FEHI(2) wi1.68 (3.0 |1 £ (2) w17.81 (43.4)
NRWELEDIST BEPR)—k BHJAC FIST &F 2 DEAC NRWEEDIST BEPR)—b MDHHAC
2 ZK03) 15.32 (+1.9)[]&B AF(Q3) 15.36 (11.9) BR FFB) 517 11.9]|ZF BAKB) Wi6.24 (+2.7) 8% E95-(3) wie54 (2.0 |= K (3) 16.60 (+1.9)
4 NRWELEDIST FCDEAC NRWELEDST LY TAC BEFR)—b 2 DEAC
HIFSESS 9518 100 S YNE)) 15.36 (11.9) EH 8E3) 16.24 (+1.9)
BEPR)—k FCDEAC
hFaEE3|3568| 100m WA PIR4) wia.24 (13.6)|3AK RN (4) wia.36 (+3.6)| )| BB (4) wia.a8 (+3.6) &)l IEE(4) wia.62 (13.8) LU BBE(4) wiats (36|~  IBKXEA(4) w493 (13.6) [ L BE14) w15.35 (+2.8) [ LU  FHA(4) w15.39 (+3.6)
HHAC-ER AEERURN—VIED DHHAC FCDEAC ANRELIST FCDEAC FCDEAC NRWEELEIST
h#5ES 3 sm68] 100 M BEFE(D) w133l (+4.2) (21 1S (D) wid.a4 (+3.0) | BTN FIFA(D) w1346 (+4.2)|JEI0 S (D) wids4 (+3.4) | KES @B (B) wiT (a2 |FHB  1GE (D) wia 2 (+4.2)|3gA 1% (5) wiate (+4.2) [N\l ZENBEE(D) w14.32 (+3.4)
BEPR)—b FCDEAC FCDEAC NRWEEDST ANRELIST NRWEEDIST FCDEAC MDHHAC
358168| 1500m B8 F08IG) 5:02.72[1E< K Bs# (5) 5:05.30|#/AN  FH(5) 5:09.48|1X I56E(5) 5:16.97|08% %0% (5) 5:27.60|1RfR T ABR(D) 6:11.37| 884y E2tB(5) 6:23.65
FCDEAC RRRC-=& BEANFER BHJAC FCDEAC NRWEEDIST KitpE =057
35160 | Bk B 16E#5) 4.29 (-0.2)|%% BEFHE(5) 4.23 (+0.D|FBL 5L (B) 4.6 (0.0)|XE& 13{Z(5) 3.84 (+0.5)|BHE BIA(5) 367 (10.3)[}B IFAEBR(5) 3.63 (+1.5)|KJIl  #53L(5) w344 (+2.3) |18 B (5) w3.39 (+2.2)
ARUELIST BEPR)—k EHACER NRWUELEDST ANRELIST AR R—VHERD HT1ENAC 2 DEAC
heEs 3 sm68] 100 ARER EABR(6G) wi.89 (+3.2)|TTE  1E89R(6) wi2.26 (+3.2)| B 16?,%(61 wi2.86 (+3.2)|H) FEHA(6) w13.01 (+3.2)|[[BE  MF(6) wis4T (13.2)|FG)I| #3E(6) wid.e4 (+3.2)| B8 TJE(6) 14.04 (+1.8) [/ AR KF(6) 14.34 (41.5)
BHFACER NRUELEDST NRWEEIST FCDEAC FCDEAC EHHACER NRWELEIST BBEEDST
358! 1500m ZHR BE(6) 4:52.02|g0P  @=t(6) 4:54.25| UK  ZAE2(6) 4:58.09|=2@8 #(6) 5:00.09|IER =E£(6) 5:04.18|=28 B(6) 5:12.82| KT HUK(6) 5:13.32| =217 SAL(6) 5:14.13
2 DEAC FCDEAC BHJAC FCDEAC F2DEAC FCDEAC SH0OMN 2 DEAC
s5160| EiEpk IRZE SEAEBR(B) 4.83 (-0.)[H#) FEHA(6) 457 (1) |BP 16?%(61 45T (+19) B% EJ’IE(G)_ w38 (125) MWW FEG) 411 L) |EE BAG6) 4.03 (+t0.1)|78)I| #BE(6) 4.01 (11.4) B2 RAL(6) 3.84 (-0.1)
HHACER FCDEAC MNFWELDIST MNRWELEDIST MDHHAC DHHAC HHACER 2 DEAC
sz TE3 | 35768| 1500m B EKR4) 5:33.54|BR D& 4) 5:40.0T|EB #&EL(3) 5:57.85(FH  KHE(3) 6:05.35|PH  FTA4) 6:06.48|/\&F EBXR(3) 6:08.93|#18 E(4) 6:13.01|F%F BKX(3) 6:13.34
FCDEAC BHJAC DHHAC H1ENAC FCDEAC BEPR)—k FIBT&F HIENAC
35168 | Bk W B84 3.79 (-0.5)|BA 1% (4) w3.69 (+3.0 &Il FEHE(4) w3.68 (+2.1) (1A%  PI&(4) 3.44 (-0.6)[mE 1BA(3) w344 (+29)|FB AH(?) w44 (13.9)|F«PyvT BT @) 3256 H)|FHF BAQB) 3.6 (10.3)
NRWELEIST B RIRN—VIED FCDEAC EHHACER BEPrRA)—b FCDEAC FCDEAC L\ TAC
h#1EE 3 [3368| 100n |, =) w6 (2.9 |[FAFT 18Z=(1) wi7.o7T (+2.9|F8)1|  FES (1) wig. 18 (12.9) | w31 wig50 2|1l IBE(1)  wisel (29 |BW  FEE () 19.62 (+1.3)[=F EBFR(1) w19.88 (+2.9)|FAE  #ETE(1) 20.05 (+1.3)
NRWELEIST FCDEAC MNRWEEDIST BHJAC FIBT&F NRWEEIST DHHAC BEPR)—bH
o amea| 100m NI ZEgQ) 15.94 (+1.9) |[#RIR  5F55(2) 16.91 (+1.9)[HIF MUK (2) 17.62 (+1.9) |88 [XZ(2) 1764 (H9)[1EE FEZ=(2) 17.87 HI[EEX BZ(Q) 17.99 (+1.9) |#8  #E(Q) 18.00 (1) (ST FEF(2)  18.08 (+0.6)
MDHHAC NRUELEDST NRWEEDIST FCDEAC FCDEAC FCDEAC FCDEAC NRWELEIST
BB B33 15.39 (+1.6)|FFH FE(3) 16.08 (+1.6)|FBR BE(3) 6.6 (+1.6) |2 BFEF(3) 1654 +1.6)[FW MHEZ(3) 16.99 (+1.6) Wx =z=@03) 1711 (+1.6)| EBFW BTE(3)  17.54 (+16)
s BEPR)—b FCDEAC MNRWEEIST FCDEAC FIBT &F BHJIAC 2 DEAC
INF3EFELZS[38168( 100m R (B eS E
FIBT&F
IREB FYE @) 1450 43)|as BE=3) 16.16 (+1.3) RW FF4) 1541 +1.3)[BP FSHWA) w5 (L)W 4B 4) 1572 11.3)|FHig ERH @A) wesT ) |EE BIEW) W16.06 (+2.1)
s RINPYTIEEDST AREINFR NRWUELEDST #FCDEAC BEPR)—k FIBT&F BEAC
INFAFELTF(38168| 100m B S T
FIFT &F
s 3m68| 100m RB ZEJG5B) wia76 (5. AR A (B) wi.85 (+5.7) [ ]| U;GESB)\ wiz.o2 (+5.7)|BEE i (5) wi3.99 (6.0 |FH IRE(S) wiaasa 5.D|WUO I (D) wia.49 (5.1 (R0 1RE(H) wia54 HAD| AR BE(B) Wl4.58 (+4.7)
B IR VR AtpE FDST #SDEAC APLELEIST fCDEAC MDHHAC SMPYTILELEIST
35168 1500n (LM EEG) 5:13.79|2B T I7/%(5) 6:10.30[F8 5 (5) 6:34.95
Team Arai MH75/NAC H75/NAC
35760 EiEk i ﬂ%)ﬁji{;)\ 430 (10.5) [{REB  =EJI(B) 4.28 (-1.6)|Si5 ﬁ)}@)\ 4.08 (-0.0|[1BA WE() 3.95 (-0.7)|ZA& IBHK(B) 3.73 (-0.8)|[AIR S (D) 3.68 (-0.8)|chEg u;e’ﬁ(&s)_ 365 (10.7) IRER ﬂ]ﬂj(@ 386 (112)
KitapE =0>0 /) KipELEDST KNP T ILEEIST ARWELIST SINPYTILEEIST NFUELE=DST NF|UpE DS
ez 3m6a| 100m = ﬁ:,%ﬁ&(fs)_ \ wi3.26 (+3.0)|CP#T ,‘falﬂg(ﬁ)_ \ wi3.44 (+3.0) |18 R ,‘ﬁﬁ_]%(Gl ‘ w13.53 (+3.0) U_Jﬁ 88(6) wid72 (+3.0) [P LER(6) wid.80 +3.0)[EARK T (6) w402 13.0) [ UOHVB) w1413 (+3.0)|[FRZA~  $600(6) w14.15 (43.5)
NRUpELEDST NREEDIST NIRWELEDZT =6l APLELEIST fCDEAC KNPy ILEEIST HRDEAC
38168| 1500m 2R HABB(6) 5:04.58|& Kk BEE(6) 5:23.60|% E£(6) 5:61.76( 8L BER(6) b:64.66
Team Arai #CDEAC BHBJAC BHJIAC
35760| EIEk e EB(6) 4.65 (0.0)|&=E UVHNB) 459 (10.9)|fBR #Z(6) 452 (10.8)|[R BZSE{E(6) 424 11.3)|AF TEI(6) 418 (+0.3)|80K ZZ(6) w3.96 (+2.9)|FRA  #H00(6) 3.93 (+1.9)|BP #HI'H(6) 3.90 (-0.2)
=B/l KNPV TILEEDST NRWEEDIST NRWEEIST FCDEAC FCDEAC FCDEAC EBJAC
pesamn T3 | sgea| 15oon |2 OHEII(4) 5:50.61|RB TH%(4) 5:54.03[it2A FxE@)  6:15.07|FEB FR4) 6:28.69|@BP 1BJ3(4) 6:31.51)3IR0O Bk (4) 6:63.68|HA #8(4) TOLN[=E HMEFI(3) 7:01.87
BN BEAC Team Arai KNPy TILEEIST BHBJAC NRWpELDIST D HAC MDA HAC
35168 | EIEk WA EF(4) 3.43 (t0.D|® [XZ(2) 3.28 (+1.9)[8 1BETI4) w3.26 (+t22)| LU #E(4) 3.25 (10.9) BB 7e3L(3) 3.23 (10.N|BE BARE(4) wds 29 |Bd FH4) 3.16 (-1.2)|B¥ &Iy (4) w3.14 ($2.1)
FIFT&F #FCDEAC RN #CDEAC BErR)—k FCDEAC FDEAC D HAC
w (wind assist) : BRZ=Z
38168 PN aE EIE [EZRES 2E
9:00 = 9.0°C 1t 3.9m/S 54%
10:00 = 9.0°C Jt® 2.1m/S 48%
11:00 = 10.0°C EZES 2.6m/’S 38% S AREE LRI R
12:00 = 10.0°C 1t 2.3m,/’S 40%
13:00 = 10.0°C R 1.1m/S 38% Mmrs:_ B N2
14:00 = 11.0°C F 0.6m/S 40% FOvwIEHIR: A 8T
15:00 = 12.0°C F 0.Tm/’S 32% iR SR K% {(EX
16:00 B 12.6°C F 2.2m/S 38% rREGNEYIR_ HE x@
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e IITL
WAKAYAMA RS AR CHES
E1= iz 2{u 3 A1 Bl 6111 T 8{il
&=3 |s965| 100m ne’ 15 10.74 (0.0) [T/ E8 1.04 (0.0)|f8lL HE(2) 11.08 (0.0)[BEB S (3) 112 (0.0)[PE EF3K(3) 11.24 0.0[ETT Q) 1.25 (0.0) AUy BB (1) 1.26 (0.0)[;BB #BiT(2) 11.31 (0.0)
h NTN-=8 W.A.S 2™ BEX T FFIMUAK EM 58
33178| 200m hE EFHEA) 22.43 (1O |RIMA BB () 2246 (O |BAX RO 2267 (11LO)|db  FE{%(2) 22.76 (+0.4)|3xHE  #(2) 22.88 (+0.4)|CPfE ZEH(1) 22.95 (+1.0)|BEB W) 23.23 (0.0)|@AA& 1RIR(2) 23.25 (+0.7)
T=a%l M FMF]UIE = BS FFIMUK s B8P
35168| 200m MAE  HABA(3) 48.89| K& () 49.20|hp8 ESH(3) 50.25(F0# BB (1) 50.38[ B XKE(2) 50.8T|A2A  BE(2) 51.36(F]Il =EAK(2) B1TO(BE BZE(2) 51.92
REEHIIK- KRR UhCHBAUR—VA-SE T EM FFIMUAK 1BEX EM REEF
35178| 800m 28 @ 1:69.05|Z)Il  #@(1) 1:69.833t0IF  F0i&@ 2:00.9| B £(2) 2:00.69|6F KIB(2) 2:01.82|BH BE() 2:02.04|/\AR 2F(2) 2:03.38|@* (D 2:03.88
Bx BRZEEEHLYY FOFRLIBERR AWK UDCRERR A ]I FF]UIE ]I
35168| 1500m xS FiK(©) 4:04.57|INVAIR B8(2) 4:07.46|1H8 K@) 4:09.68(1tAX E2—PFA(3) 4:14.43(2K @) 4:15.95|17kH  #NSh(2) 4:16.86 (18X HE(2) 4:19.89|F R 1BEE(2) 4:20.09
FMF]WIE FMF]WIE B30T BEX B B80T FF]MUK MNRWT
35178 3000m xS FK() 8:BLTINEBAR FE(2) 9:16.64 | &M R#I(1) 9:26.08(1L% =E(2) 9:28.96| AR =K (3) 9:29.3T|WA  F(M 9:29.46(TTAA WA(2) 9:29.97(11F &&(3) 9:34.27
FMF]WIE MUK TEE "D FARHIP AR BA BRZE- KR N
38178|5000m xS FiK(Q) 14:36.60|@  FREB() 14:62.311\VAR 23() 16:26.46(F/11 E¥(2) 16:26.69|=2H RE(2) 16:20. 71| =@ B{Z(2) 16:36.26 ([P = A(2) 16:38.23|F8  BHi(2) 15:38.80
FMF]WIE BRZEEEHLYY FMF]IE == B85 BRFEEROLYY BRZFERROLYY MNRWT
35178 11onH NE 8% 14.79 (+0.5)|NEBIR BFP 16.16 (+0.6) |#Aim Bk (1) 16.33 (+0.5)|[B R —I(1) 16.63 (+0.5) [IRAx 4% (1) 17.02 (+0.5)|ZE & (2) 17.80 (+0.5)| 95t &=L (1) 17.98 (+t0.9)|B8H BPO) 18.06 (+0.9)
Gloria-AC-R &L RITRE - AR REEF AWK g8 REEF [2bY} ]I
35168/ 200mH 7 RB(3) 53.79|=8 B7(3) 56.44|ZZE JE(2) B7.56(xH #(2) 57.98|#\5%  XEk(N) 58.15[itEB FIT(3) 58.65|4 /Il (1) 69.38| K& &5 (2) 59.52
UhZ BB UR—YK LERBBEXILE AEEF S AEEF FF]MUIK AEEF AEEF
38178 5000mH hE  FFEM 21:32.97|H5E AR (2) 21:36.74|11872 #1(2) 23:27.00(PE 1B 24:37.28|850 Xi& 24:56.655(1XA B8 26:24. 73RO ERI(1) 26:29.84|&E B=(2) 28:12.75
BREYBEERHLYY BT BT BEYBERHLYY SRCABR EREER ABRMILA- KR ABRMILER
BFE HE—4) 1.95|KE  I#FH(2) 1.95|%8fk FAXK(2) 190|BEEAR BAM) 1.86 B 8Z2(2) 1.85|[@FH KiE() 1.85|EH =(2) 1.75
‘el eap| PRAEM BEAAI DRA-EH R b DRA-E 1985
- ~H () 1.85
PRA-EX
32168 | =Sk D &K (2) 4.601k0 &BE&@Q) 4.35(8310 #3L(2) 4.00(BR 1BK(2) 3.30
T ARFFRL ITARAMUP EPSZH|RHRBRTP- AR RHHRTP- KR
32168 EiEk R Bk (1) 6.44 (+1.9)[IRBR VAR (1) w6.31 (12.6)[!RE  HEK(2) w13 (12.4) B BZE(2) 6.2 F0.N[;BA W) 6192 HILND[LE A w6.10 (+5.10 8511  AIT(2) 6.08 (+1.4)[dt FE{Z(2) 6.07 (+1.5)
=15} B i AEET BEES BEES afz Nz
B e =26 .84 (1.8)[JPR  FRIE(Q2) 178 -02)[88)Il KIT(2) 1295 G| KAF () 279 (M4 [BEE HiE(2) 258 GoD|R BA(2) 230 HLO|BR KRB 20T H[EHF = (@) 1145 (-0.1)
— P EEA-RES BEAR- AR Qs #CREE =apll AEFF FMIWLT BE
same|mae|® BEO 8.23
PN TEE PPN
35 168| \y-13 ;J%A : 8= 52.64
38178 oI REB FE(2) 59.68(1Lx FEHI(2) 55.26|A8)I|  ZXi=(2) 55.21/BEAK  Z=IK(3) 54.25(k0O EBE(2) 52.33|WAR #HBP(2) 4T.06|EH SR (2) 46.33(F8 BEIN(1) 46.05
B4 FMF]WIE FMF]|UIE AMFIK MRS == {80 BE
=waz |sare|pne HF RO 13.75|@HE &1h(2) 13.11| K81 SUE () 12.80|2F XM 12.44F111 &) 1.66|F/Il #() 10.67(LEXx  FEHE(2) Q.9THRF BA(D 9.50
=I= #CREE I N 85 i ]I ]I
s5168| magia X FR() 4045\ HFP B 38.53|@H &1h(2) 37.6|EF  HHe(2) 3710 KBTS () 35.95|/I| £ 1&&H(2) 36.63| KT #®B7T(2) 30.85 |80 FEK(2) 30.63
T s 85 #CREE ==l FOFRLIE 88 #CREE Bl
38168 \y-13 Ao gEE(2) 50.56| K #BIT(2) 49.42;FI11 7&8(2) 46.08|@AX BIF(2) AA3RHE BIA(D 40.2008 =Z2(1) 4@ BEAQN) 33.28|5kx #HE(2) 32.44
KNLE-RR #CREE [=I= FOFRLIE FOFRIE ACREE B30 BHES
223 |3m18| 110mH Bl ®’E®) 16.91 (+0.6) |28 AR BE(N) 16.27 (+0.6)|F&HF FH{Z(1) 18.44 (+0.6) |t T (2) 19.96 (+0.5)|f#RES & (2) 20.05 (+0.5) |18 gL (1) 20.97 (+0.5) |8 L) 2274 (+0.9)[3T)I|  ¥&(1) 22.18 (+0.5)
8840p SiEd SEBED fif AP SiEP FLEP 580 i AP
P =& 8B2(3) 6.06 (-2.0)|/A8) MEE() 65.66 (-0.D |8l IHE(Q) 5.39 (11.2)[B FBAX(2) 5.32 (-0.9)[1888 RE(3) 5.32 (-0.2) @Il MEQ) 5.16 (+1.D[FEB K=(2) 5.12 (-0.0)[#AA E2(2) 4.97 (+1.8)
HEP BRES P 8830 P fe2llp icpiles) BiEP BB SEBaEd
s2178|fnie X8 TIL—2J—(2) 13.62|%8 £3(2) 103|188 BEOW 9.96|@EEB AH) 9.70|x8 wLvUrI—O) 8.85|H® &i(2) 8.42|P8F BHAD(2) 8.25(%@ &2 7.89
WEP el o SiEP WEP FoR P AOFW REBP
35168| magia XE TIL—2J)—() 36.19|3)Il BHE(2) 30.32|X& LY== 23.07|1%82 SAM 22.92|21  Kih(1) 21.8T|BEM B (2) 21.42|F% £I1(2) 20.67|AAE 150FE(2) 19.88
- ~mE D SED MR D o2l ED EZEP peIas[en) peIasen
w (wind assist) : BEZZ
3Eed | K= B EIE] RS e 3H1TE PR I 1] RS B
9:00 = 9.0°C it 3.9m/S 54% 9:00 5] 12.0°C Jtites 0.2m,/’S 65%
10:00 = 9.0C t® 2.1m/S 48% 10:00 = 13.0°C ks 1.2m,/’S 65%
11:00 ) 10.0°C EES 2.6m/’S 38% 11:00 W 8.5°C Jedbs® 1.2m/’S 35% i MUWELFRRBE
12:00 = 10.0°C 1 2.3m/’S 40% 12:00 55 8.0°C 3 1.1m/S 2%
13:00 = 10.0°C Jt&E 1.7m/'S 38% 13:00 = 10.0°C ES[E 1.3m/S 50% w¥s: P N2
14:00 = 11.0°C E 0.6m, S 40% 14:00 55 8.0°C S 2.8m/S 46% rovIBEER: WA B85
15:00 = 12.0°C S 0.7Tm,/’S 32% 15:00 [ 11.0°C tsE 1.3m/S 40% SR B R: K8 BEX
16:00 B 12.5°C S 2.2m,/’ S 38% 16:00 = 12.0°C EEES 0.7Tm//S 3T% LR EY R: HE Z#
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WAKAYAMA R=ASABECBRE
(E1=] iz 2{u 3L ZXivi Bl 6111 T 8{il
&a35 |sm6a| 100m TiE BR(2) 12.44 +0.9)[=2F ZN0(N 12.83 F0.9[EBEA wiR(2) 12.88 (0.9 ESFW BEB((Q2) 13.01 (+t0.9)[Fglg FRFK(2) 13.04 (-1.5)|PrS #h(1) 13.07 (t0.0)[BH B&(1) 13.12 GO0/ Z=EZEE()  13.16 (11.4)
i EZEE-BX AL HED P MED ] AL P
samal 200m T 88(2) 2656 -05)|2Fm =0 26.66 (-0.5)|Fgfa KK (2) 26.72 (+0.D|REJI IR (1) 26.74 (+0.9)[IA EFE(1) 21.00 +0.9) R HIR(Q) 211 (0.9 |JIIR  EHEE) 2t (o) ZEPQA) 27.21 (-0.5)
Eilles FMF]WIE HED TEE_P S5 MED P EZE-BX
35168| 400m ITHEINI FXQ) 1:00.93|F%F T~ &\E(2) 1:02.39|FF] HET(3) 1:02.70[\BW #@7e () 1:02.77(d6@  15(2) 1:03.14|Bb =EEQ) 1:03.19|=288  ZH0(1) 1:03.46(/N\&¢E TiB(1) 1:03.66
T AFFRL Mz IR MNARWUB MR M= AL AL
3g178| 800m WA FE2(2) 2:23.33|18[ B{EFI() 2:23.50| &) FX(2) 2:24.87(1BR #5&(3) 2:26.T2|68PF E() 2:28.67|f8A TR 2:29.66|fIE8 BE(2) 2:32.37T| KT ZEBXQ) 2:32.56
B0 8840p T ARFFRL BREEEP KR TEED B B B
35168| 1500m I X5(2) 4:63.82| KRR #LE(Q) 4:54.18|BPF B() 4:58.61|M X=) 5:01.82|# EREZFE(2) 5:03.17T[HBIF BFFE(O) 5:12.60|FIE  BEML(2) 5:16.67|BBE ME(1) 5:17.13
Spoa[en FED T2E "D fifA g8 BEE=0 BEE=0 580
35178(3000m R =B8(Q) 10:10.72|#F  BRERZ(2) 10:41.64 |50  BEML(2) 10:68.11| L BF(2) 11:14.84 g1 B0 11:26.28|7Kk8F 2 (2) 11:28.62|ZFElR kDD (1) 11:41.10(PE 1B (1) 12:06.86
=) g8 BER=0 == EES MRS FF]MUK MRS
353178 100mH T BR(Q2) 14.58 19)|)IIFY F=R(2) 16.97 (-1.5) | A2 FJ3(2) 17.06 (-1.5) B BXA0(1) 17.06 (-1.5)[IRE B (1) 18.08 (-16)[}BE HMHREF()  19.33 (-1.5)
EZE-EX BE REEF 8= BE g8
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